R = 3939hm
T= 17%}5%

MuoronpoduibHas
HHKeHepHas 0JIMMITHA/1A

| |
gy 5970431

«3IBe3iar
L, 2L
,_é, &41?643*"3- _/—f———-—fé P -
T4 w————r B e
Lt % ) ;%5_ )7, 37,
v, 7,
7 1 31 11, e
g[_t <L 'fl;/1 Lle 1WA 5
37 %’Yl) 1Y, "2
P 0
I 13 "G X
_gq 319

i ::2717( UbK

14§00 ¢

Joo W - 189 =
é 7-» 19,13 TN 72

— __-—’ ../_.__-—-——"""_’
f\fbr,-/ 4 168004

Opdem: 13, =

o= STh50 4~

A
i e pisoum

m:
o 0271

Kt —
= F‘Mﬂf"{&"‘ ’Q

237

=4, 00904 %

;/

o Y sqr0” .1’ W
\[;JK—'”)”MM v \/—



Dhws; _
R = 3430k, V;%J(/ﬂ
;71,:5(3'40‘)’;1/1/ 27 .
40 W - ikl
Ju=3 17 - m - b3 — 3427 W
! pe = T
‘/0 ) J ‘,5.09 j,;ﬁ-@?ﬁ&’l&ﬁ)
o 3

vy
%lamz o
— Fyp, = 85607 5280 -
paqy W

b, =420
R < 3970 e ﬁ-fh:ﬁ‘{?OM‘f'll(im;?{{OW
Juz3 1% _ LI 293 1Y e
: uﬂ“’”’(’—j—l—*—,fﬂ,OOfbffjf (1,58 WK
-0 U= T #afoux 72
N COIT ..
N Wer=0,001 g 4ok = GBI €
) ‘ i W o
, At —
LN AT >




